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1. In APQR, if QR =20 cm, RP = 19 cm, PQ = 16 cm, then perimeter of the triangle =
P

Q R
(i) 52.00 cm (ii) 55.00 cm (iii) 60.00 cm (iv) 58.00 cm (v) 50.00 cm

In APQR, if QR = 20 cm, RP = 16 ¢cm and the corresponding height of side QR = 10.38 cm, then corresponding

2.
height of side RP =
Q R
(i) 12.98 cm (ii) 9.98 cm (iii) 7.98 cm (iv) 15.98 cm (v) 17.98 cm
3 In APQR, if QR = 17 cm, RP = 10 cm and the corresponding height of side QR = 6.93 cm, then area of the triangle
P
)
Q R

(i) 63.94 sq.cm (ii) 55.94 sg.cm (iii) 53.94 sq.cm (iv) 61.94 sq.cm (v) 58.94 sq.cm

4. In APQR, if base QR = 19 cm and the corresponding height of side QR = 7.17 cm, then area of the triangle =
|:l

)
Q R
(i) 73.09 sq.cm (ii) 68.09 sq.cm (iii) 71.09 sgq.cm (iv) 63.09 sgq.cm (v) 65.09 sq.cm




5. In APQR, if base QR = 20 cm and area of the triangle = 102.47 sg.cm, then corresponding height of side QR =
p

Ol
Q R

(i) 13.25cm (ii) 15.25cm (iii) 7.25cm (iv) 5.25cm (v) 10.25cm

6. In APQR, if corresponding height of side QR = 4.56 cm and area of the triangle = 45.6 sq.cm, then side QR =
P

Q R
(i) 25.00 cm (ii) 20.00 cm (iii) 17.00cm (iv) 15.00cm (v) 23.00 cm

7. If the side of an equilateral triangle is 11 cm, the height of the equilateral triangle =
A

[
B &

(i) 11.53 cm (ii) 10.53 cm (iii) 8.53 cm (iv) 9.53cm (v) 7.53cm

8. If the side of an equilateral triangle is 17 cm, the perimeter of the equilateral triangle =
A

B C

(i) 46.00 cm (ii) 54.00 cm (iii) 51.00 cm (iv) 56.00 cm (v) 48.00 cm

9. If area of an equilateral triangle is 110.85 sq.cm, the side of the equilateral triangle =
A

B C

(i) 11.00 cm (ii) 16.00 cm (iii) 19.00 cm (iv) 13.00cm (v) 21.00 cm



10.

11.

12.

13.

If area of an equilateral triangle is 173.21 sq.cm, the height of the equilateral triangle =

B C

(i) 14.32cm (ii) 12.32 cm (iii) 17.32cm (iv) 22.32cm (v) 20.32cm

If area of an equilateral triangle is 110.85 sq.cm, the perimeter of the equilateral triangle =
A

B C

(i) 48.00cm (ii) 51.00 cm (iii) 45.00 cm (iv) 43.00cm (v) 53.00 cm

If perimeter of an equilateral triangle 51 cm, the area of the equilateral triangle =
A

B C

(i) 113.14 sg.cm (ii) 138.14 sgq.cm (iii) 139.14 sq.cm (iv) 125.14 sq.cm (v) 97.14 sq.cm

In an isosceles triangle AABC, if BC = 16 cm, AB = CA = 10 cm, then perimeter of the triangle =

(i) 41.00cm (ii) 36.00 cm (iii) 33.00cm (iv) 31.00cm (v) 39.00 cm



14. In an isosceles triangle AABC, if BC = 19 cm, CA = AB and perimeter is 55 cm, then side AB =
A

B e

(i) 15.00 cm (ii) 13.00 cm (iii) 18.00 cm (iv) 23.00cm (v) 21.00 cm

In a right angled triangle APQR, if QR = 10 cm, PQ = 12 cm are the lengths of perpendicular sides , then
" corresponding height of side QR =
P

Q R
(i) 9.00 cm (ii) 12.00 cm (iii)) 7.00 cm (iv) 15.00cm (v) 17.00 cm
In a right angled triangle APQR, if QR = 13 cm, PQ = 18 cm are the lengths of perpendicular sides , then

" corresponding height of side PQ =
P

Q R
(i) 16.00 cm (ii) 8.00 cm (iii)) 13.00 cm (iv) 18.00cm (v) 10.00 cm

In a right angled triangle APQR, if QR = 17 cm, PQ = 16 cm are the lengths of perpendicular sides , then area of
" the triangle =
p

Q R
(i) 112.00 sg.cm (ii) 136.00 sq.cm (iii) 124.00 sq.cm (iv) 150.00 sg.cm (v) 154.00 sq.cm



18. In aright angled triangle APQR, if the base QR = 11 cm and the corresponding height is 16 cm, then side RP =
P

Q R
(i) 19.42 cm (ii) 24.42 cm (iii) 22.42cm (iv) 16.42cm (v) 14.42 cm

19. In aright angled triangle APQR, if the base QR = 15 cm and the corresponding height is 13 cm, then side PQ =
FI

-
Q R
(i) 18.00 cm (ii) 13.00cm (iii) 8.00 cm (iv) 10.00cm (v) 16.00 cm

In a right angled triangle APQR, if the base QR = 17 cm and the corresponding height is 16 cm, then
" corresponding height of side PQ =
o

-
Q R
(i) 12.00 cm (ii) 22.00 cm (iii) 14.00 cm (iv) 17.00cm (v) 20.00 cm

In a right angled triangle APQR, if the base QR = 16 cm and the corresponding height is 15 cm, then area of the
" triangle =
FI

Q R
(i) 134.00 sg.cm (ii) 135.00 sq.cm (iii)) 103.00 sq.cm (iv) 102.00 sgq.cm (v) 120.00 sqg.cm



In a right angled triangle APQR, if the area is 170 sg.cm and corresponding height of side QR = 20 cm, then side
QR =
P

22.

[T

Q R
(i) 22.00cm (ii) 17.00 cm (iii) 14.00cm (iv) 12.00cm (v) 20.00 cm

In a right angled triangle APQR, if the area is 130 sq.cm and corresponding height of side QR = 20 cm, then side
PQ =
P

23.

]

Q R
(i) 15.00 cm (ii) 25.00 cm (iii) 17.00 cm (iv) 23.00cm (v) 20.00 cm

24. In a right angled triangle APQR, if the area is 160 sq.cm and base QR = 16 cm, then side PQ =
P

Q R
(i) 23.00cm (ii) 20.00 cm (iii) 15.00 cm (iv) 25.00cm (v) 17.00 cm



55 In a right angled triangle APQR, if the area is 108 sq.cm and base QR = 18 cm, then corresponding height of side
" OR =

P

-
Q R

(i) 12.00 cm (ii) 15.00 cm (iii) 7.00 cm (iv) 17.00cm (v) 9.00 cm

26 In a right angled triangle APQR, if the area is 171 sq.cm and base QR = 19 cm, then corresponding height of side
© pQ =

P

Q R

(i) 19.00 cm (ii) 22.00 cm (iii) 24.00cm (iv) 16.00cm (v) 14.00 cm

27. In an isosceles right angled triangle APQR, if QR = 10 cm is one of the equal sides, then side PQ =
P

Q R

(i) 10.00cm (ii) 13.00 cm (iii) 7.00cm (iv) 5.00cm (v) 15.00 cm

28 In an isosceles right angled triangle APQR, if QR = 17 cm is one of the equal sides, then corresponding height of
" side PQ =

P

(i) 12.00 cm (ii) 22.00 cm (iii) 20.00 cm (iv) 14.00cm (v) 17.00 cm



29. In an isosceles right angled triangle APQR, if QR = 10 cm is one of the equal sides, then area of the triangle =
P

Q R

(i) 47.00 sg.cm (ii) 50.00 sg.cm (iii) 55.00 sg.cm (iv) 53.00 sg.cm (v) 45.00 sq.cm

30. In an isosceles right angled triangle APQR, if corresponding height to the base QR is 19 cm, then side QR =
P

Q R

(i) 19.00 cm (ii) 14.00 cm (iii) 16.00 cm (iv) 24.00cm (v) 22.00 cm

31. In an isosceles right angled triangle APQR, if corresponding height to the base QR is 10 cm, then side PQ =
P

Q R

(i) 13.00 cm (ii) 15.00 cm (iii) 5.00 cm (iv) 10.00cm (v) 7.00 cm

32. In an isosceles right angled triangle APQR, if area = 84.5 sq.cm, then corresponding height of side PQ =
P
1
[T
Q R

(i) 18.00 cm (ii) 16.00 cm (iii) 8.00 cm (iv) 10.00cm (v) 13.00 cm



33. Consider the following triangles. Which two triangles have the same area?
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(i) AMAB and ARAB (ii) AMAB and ATAB (iii) AMAB and AQAB (iv) AQAB and ATAB (v) AQAB and ARAB

34. Consider the following triangles. Which two triangles have the same area?
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(i) ACDE and AlJK (ii) AFGH and AlJK (iii) AFGH and ALMN (iv) ACDE and ALMN (v) ACDE and AFGH
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